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i) (=2) ~ AL.1. Why are you shopping today?

¥ 373 2 2.1 often play sports with my father.
— T EES WAy fE 3.1 usually clean my room on the weekend.
Z LRk B S g A R 2 RN R + .go swimming; goes on a picnic; pick apples; make a snowman

e +—.1.D 2.C 3.B 4.A
2. 5% Eil
+=.0.T 2.F 3.T 4.F

BB ()

Hi>J ()
i 31 2k
— &5 B A7 dEe #mR OmR Ed B
MR DA B A1 07 H B
ZORP G E A

—.1.A 2.A 3.B
—.1—-C 2—D 3B 4—A
=.1.B 2.D 3.C 4. A

1.always 2.often 3.sometimes

=% Y OB Sis KE U YA O plate: play
% ig' | | clear: clothes; clever; clean
: ~.1.C 2.B 3.A 4.A 5B 6.C 7.B 8B
4 S B (—) £.1.T 2.T 3.F

—1.F 2.F 3.F 4.T A1 What is the little panda doing?
=B 2B 3.A 4.C 2. We are having an English class,
=1-D 2—C 3—A 4-B 3. Do you see any pandas?
M0 .1. white 2.hot 3.golden 4.green 4. The tiger is drinking water.
H.1.C 2.B 3.A 4.C 5. Are they cleaning their room?
AF 2T 3.7 A4 LC 2D 3B 4A
+ .1. eat breakfast 2.do morning exercises B 1.B 2.C 3.D 4. A

3.a Chinese class 4. play sports +.1.F 2.T 3.F 4.F 5T

J\.1.season 2.spring 3.summer 4.autumn 5. winter

4



+—.
Names Birthdays
Peter August 22nd
Mike January 30th
John June 1st
Sarah December 23rd

B ()

—.1.T 2.F 3.F

Z—.1—B 2—C 3—D 4—A

=.1.March 2. August 3.February 4.May

.1. mine 2.these 3. thirtieth 4. twenty-third

M
H.1.B 2.A 3.D 4.C
~..B 2.C 3.A
+.1.F 2.F 3.T
JAN1.B 2.B 3.A 4. A
#.1. —When is Tree Planting Day?
—It’s in March.
2.—When is Children’s Day?
—It’s in June.
3.—When is Mother’s Day?
—It’s in May.
+.5—1—2—3—4
+—.1.Is he drinking water?

2. Can you take him to the park?

3. Sam is at Chen Jie’s home.
4, Where is the dog now?
+=.1.F 2.T 3.7T
+=.1.T 2.F 3.T 4.F
5B ()

—.1. teach 2. exhibition 3.say 4. Canadian
—.1. keep to the right

2. Talk quietly

3. keep your desk clean

4, take turns
=.1. Who 2.Where 3.What 4.When 5. Whose
.1, twelfth 2. twentieth 3. Linda’s 4. his 5. ours
FH.1. This T-shirt is his.

2. That ruler is mine.

3. These pants are ours.

4. Those dogs are theirs.
751 1. singing 2. eating 3. drinking 4.jumping
+.1.E 2.B 3.A 4.D 5.C
N1 T 2.F 3.F
A S —:1.T 2.F 3.F

{145 —:4.a tiger 5. drinking water

L1



Ad—B 2-D 3—A 4—C 5—E
AFRINL

+.1.C 2.A 3.B 4.D 5. E

+—.1-24-3-5

“~s|r|blo|t hlo|r |t
wl e|la|t|e|r3o0|s|b — : :
—Z.1. Wh 2.8 ht 3.left 4.t . right

bl a TSz e ¢ @\ hlt + ere straig 3. le urn 5. rig
flw|ls|w|ila|ll|r|ol|s +=.1.T 2. T 3.F 4.7T
x| alc|n|g[h|o|e][s3h
jlx|rjtlglc | flls)t]i s Y3
t | x|b olc s/l s |r = -
s|l€lolalty»jlz|r|x]|t

5LV (—)
—. LB i C (DA ¥ C

F B (3)D ¥ B
% 2.0 @y b

—A.J B. X C.X D.X
=B

—.1. post office 2. bookstore 3.cinema 4. hospital

5. turn left 6. go straight 3.6 8 & 7T F 3
“.ie Zouse 305t 4d.oji 5.ea;u Z.LB 2.C 3.A 4B 5C 6.A
=.1.C 2.A 3.C 4.A 5.A =
PILATH T 2. near the museum 3. £+ 571l CE.L(DL (D0 (D1 Wi (52
4. turn right 5. & —K {5 F 2.5
F.l.to 2 for 3.a.t 4. near 5.of S ()
75.1.to buy 2.talking 3.go 4.get 5.Turn 1 —1 2 2 4 2
£.0.A 2.C 3.A 4.B 5.B
J\1. It’s next to the museum. 2. KRR O 10
3. What an interesting robot! 3.13.7.17 12.46.40,49.51.111 1
3. Can you help me find the park? 4.14 41 5,124 421
4. How can we get to the hospital? 6.2.3 7.1.4.7 O
5.1 want to buy a postcard. 8.7 11 13 2 3 5



9.1.3.5.9.15.45 3.5 9.15.45 9.15.45 X 2.4 3.4 4.X

10.990 120 =B 2.C 3.B 4.C
ZOX 2.X 3. X 4. 5. 6.X 1.4 8 9. MH.1.40 k=400 432k 14 K=140 432Kk 1.2 k=12 4K
=..C 2.C 3.B 4.C 5.C (400X 140+ 400X 12X 2+ 140 X 12X 2) <+ (4 X 4) = 4310
uNCS (Ho)
F.2 W5 :50.60.70.56.76 2. 200X 2=400(7. 75 JHEAK)

3 WIA54.57.75.60 3.50X 30X 10+ (30X 20) =25(JH k)

5 Bf54K:65.75.50.60.70 4.10 F+=10 7 I 43K

w2 2 3 BOAEEL . 60 § (110 (2.5X2) =204 %)

[F] A2 2 F1 5 B A5 %:50.60.70 6—2=4(434)

A i 3 F 5 A% 75,60 (2)2.5X2X (4—2. 1) =8(L I 44K)

FIE 2 2.3 A1 5 BIRREC 60 55 VIR (1)
7.1 10X34+6=36(%) _13 9 3 1

245 2 MM ISR IE A 9 5 A SRR E e, 10 100 200

B3 AR AR IR A 5E 2.6 15 20 0.6 3.4 11 4.120 % 14280 14700

3.7328519,

s.i 11 6. &&Hf Z56H 7.1 ab 8.6 210
SR () S X 2.4 3.X 4.X 5% 6.X

—.1.24 24 8 2.60 142 105 Z1.C 2.C 3B 4.C 5 A
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